
 

 

MARK Listen to the recording and choose the FIVE sentences which are 
correct according to what you hear. Write the corresponding letters in 
the white boxes provided. Item 0 is an example. 

 
 

 
 

SPAIN’S SOLAR CEMETERY 
 

0. In this Barcelona suburb the deceased are stacked up high 
because there isn’t enough land.  Ex. 0 ü 

A. An important advantage of placing solar panels in cemeteries is 
that there are no shadows.     

B. At the moment, these panels produce enough power for 80 
homes only.     

C.  It’s important to put the solar panels discreetly in the 
cemetery.     

D. Other cities in Mexico also want to place solar panels in their 
cemeteries.     

E. Solar panels have also been installed in secondary schools.     

F. Teresa Griñón has had a solar panel over her tomb for 14 years.     

G. The main problem is conducting the energy from the solar 
panels to a transformer station.     

H. The solar panels in this cemetery are put on the ground.     

I. These solar panels have been generating electricity since 
December.     

J. These solar panels were introduced by Esteve Serret’s family 
firm.     

K. You can see the solar panels from the ground.     
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